Independent sample t-test

Group Statistics

	 
	sex
	N
	Mean
	Std. Deviation
	Std. Error Mean

	dep
	male
	361
	3.5369
	.59106
	.03111

	 
	female
	180
	3.6206
	.57178
	.04262



Independent Samples Test

	 
	 
	Levene's Test for Equality of Variances
	t-test for Equality of Means

	 
	 
	F
	Sig.
	t
	df
	Sig. (2-tailed)
	Mean Difference
	Std. Error Difference
	95% Confidence Interval of the Difference

	 
	 
	Lower
	Upper
	Lower
	Upper
	Lower
	Upper
	Lower
	Upper
	Lower

	dep
	Equal variances assumed
	.600
	.439
	-1.570
	539
	.117
	-.08377
	.05335
	-.18857
	.02104

	 
	Equal variances not assumed
	 
	 
	-1.588
	368.541
	.113
	-.08377
	.05276
	-.18752
	.01999


Levene’s test gave the value of  .439 which indicates that the equal variance assumption has not been violated. Therefore, the analysis of this test was taken from the first line in the above table. 

Presenting the results:

An independent-samples t-test was conducted to compare the ………for the males and females. There was no significance difference in scores for males (M= 3.54, SD=.59) and females [M=3.62, SD=.57; t (539) = -1.57, p=.11]. The magnitude of the differences in the means was very small (eta squared= (
Eta squared = [image: image2.png]



Eta Squared = [image: image4.png](-1.570)%
.570)2+(361+180-2)





Eta Squared = 

One-way ANOVA

Descriptives

dep 

	 
	N
	Mean
	Std. Deviation
	Std. Error
	95% Confidence Interval for Mean
	Minimum
	Maximum

	 
	
	
	
	
	              Lower Bound
	Upper Bound

	less than 30
	79
	3.6190
	.64251
	.07229
	3.4751
	3.7630
	2.00
	4.52

	30- 39
	196
	3.4961
	.55438
	.03960
	3.4180
	3.5742
	2.00
	5.00

	40- 49
	204
	3.6141
	.57458
	.04023
	3.5348
	3.6935
	1.71
	5.00

	+50
	62
	3.5499
	.63137
	.08018
	3.3896
	3.7103
	1.00
	4.52

	Total
	541
	3.5647
	.58552
	.02517
	3.5153
	3.6142
	1.00
	5.00



Test of Homogeneity of Variances

dep 

	Levene Statistic
	df1
	df2
	Sig.

	1.054
	3
	537
	.368


Levene’s test indicated that the assumption of equal variance has not violated since sig value is >.05. 

ANOVA

dep 

	 
	Sum of Squares
	df
	Mean Square
	F
	Sig.

	Between Groups
	1.668
	3
	.556
	1.627
	.182

	Within Groups
	183.465
	537
	.342
	 
	 

	Total
	185.132
	540
	 
	 
	 


A one-way between group analysis of variance (ANOVA) was carried out to explore the impact of age on (Dependent variable) , as measured by the (Questionnaire  name/title). Subjects were divided into four groups according to their age (Group 1: less than 30 years; Group 2: 30 to 39; Group 3: 40 to 49; Group 4: 50 and above). Results indicated that there was not a significant difference at the p<.05 level in (Questionnaire title) for the four groups [F (3,537)=1.63,p= .182). As can be seen from Table 4.---, the mean scores of the groups are almost the same. 
اخوي طلع النتيجة من هالمعادله وحطها باللي مكتوب بالاخضر








